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(= With developed countries focusing on—and arguing about—stimulus spending vs.
austerity measures and whether to impose a global bank tax, the G-20 Toronto Summit
Is unlikely to address the priorities of least-developed countries: reforming the
governance of international financial institutions, like the International Monetary Fund
(IMF), to give them more of a say; loosening requirements for IMF loans; ensuring
predictable aid flows; and open trade access to developed markets.
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In his inauguration address, the U.S. President Obama states, "The question we ask today
Is not whether our government is too big or too small, but whether it works—whether it
helps families find jobs at a decent wage, care they can afford, a retirement that is
dignified." Write an article of 300-350 words, commenting on this statement.



